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Solving Rational Equations and Inequalities

Solve each equatlon
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Solve each inequality by u:rslng a graphing calculator and a table.
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Solve each inequality algebraically.

9(%% l é_'//zm S’Q%))( ’.O

Date Class

L0 oy mZ Y ) S <f<9
(46 )L )@"'ﬂ ’r\(-gx)(E Q(HZ)
2424 or 274 x(-12. or YZIS

Solve.
13. An artist is designing a picture frame whose length, /, and width, w, satisfy the

Golden Ratio, which is %=—"-— If the length of the frame is 24 inches,

what is the width of the framle; ! w Q'U W C9 (/H'U‘) ) ‘9 (//(‘QL/)
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14. Team A can wash all the windows in the school in x hours. It takes Team B 2 W- :
3 hours longer to do the same job. If the teams work together, they can complete w +2L{ ‘r 7(0
the job in 8.5 hours. How long does it take Team B to do the job alone? O
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Original content Copyright @ by Holt McDougal. Additions and changes to the original content are the responsibility of the instructor,
8-37 Holt Aigebra 2

Scanned by CamScanner



,ﬁ%,}(hl U»V1Z

¥ v Y- (r2)
2= U-lorr-12

(2= —py—§
YoV YU

—

8r—~&

GJf-

DX\ XY | (3 ;V—f )
qu \_X>£) Xz , 6Y%/
Y= 2X+ ’ ,
2K - ’_Z_Xg fl v +x%=7
2x=§ I
gL o ( X2-lpy-1=0
W QE%E | (X-T(X+D=0
YY) _auprs | (x=T1
Lf'[’[ L{’L}' !l Gt
.o\f‘\- LQ_, 8’\__{'_3 f'
S C |
\nosmuH70“4 |

Scanned by CamScanner



2-470
+u +Y
e Bl

<74
418 48

Tz Z (z-H)

Scanned by

C

0] 1L "5
(-5) i+ | (-5 -
M\__,_\/\_/,_\/\_/\-— i
=203 {<5
I3 5(4F <
5
P - o
A2 )
(e (
é—‘i)?@)@ : £>6
(2 235-18
HE T HS
= 2185 ars |,
3 3 sk 18 A
L~ :
i & no £O 1O
%Y % \
| GseD |
@{ay L&A 12)
o ﬂi—@) ( )
il + Y412 (§ —
“ @ XL |2
Xﬁ{}?—w il
X712 ok
A/ 5#77*\0&‘
X < t )\
J_ay$x-00 ) SR>
hEnE
e
e

amScanner



Ny QI 2U+00 )= 24 (24

® T 2urw LW+ WA= §10
w2+%zuw -§70=0

—u + \20=q(D(5T@) -

200 B
~2U+83.7 =15 3 inUAL |

— 2 T —_—
) reamn 1 7+ 28,8 K43

Rute ‘Uf?)*m%)( 5) L2 HX =
_— ~ yx-25.§

TQO{Z):’%L 3 (&’ +?> 5 X (X43) @’U(Ad- O MU

X X =S hoUtrd

S” ?CMBM f&“)}

i 3) IYU*’?@”@

£ x=X243X

Scanned by CamScanner



D Tty v %EEF
o §§® |

Scanned b é}hScanner

H&5i§ i\g SE%_\(
2\5 Eéé

D: m%x%_i\ i

/o
-

__N” Exg,i 0 .




